Guidance document 46-47

Verifying Trigonometric Identities and trigonometric equation
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Learning outcomes Prove the trigonometric functions,the inverse trigonometric

functions. And solve trigonometric equation.
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Intended destination Proving Trigonometric Identities
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1. Trigonometric equation fie aun1sNiifandunsinaulifvesiinlsusing wu
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CoS X :5,20052 X —cosXx —1=0
2. Trigonometric Identities soaun1slenanwalnslnuda Ao aunsiduasaiiounusa
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wUsAUTININAIAlA 9 wdIWNNAUTAMUMLY WU sec x - tan'x = 1

Example Verify the Identity

2 5 5 ) cos5x  sinbx CoS X
L2 Lo 2. — + =—
1. tan x - sin x=tan x * sin x Sindx  cosdx  sin4xcos 4x
: 2 2 sin?x 2 solution
solution tan x - sin x= —sin“ x )
cos 2 x COS5X  SIN5X ...
L2 D 2 — R
_sin“ x —sin“ xcos “© x sin4x  cos4x sin4xcos 4x
cos 2 x _ 008 i )
. sin4xcos 4x
sin? X(1 —cos 2 X)
= > _ coS X
Cos ~ x sin 4x cos 4x
.2 .
sin“ x cos5x  sinbx
_ (1—coszx) : " - COS X
cos 2 x sindx cos4x sin4xcos 4x
) 2 . 2
—tan? x sin? x 3. (sinB+cos0) +( sinB-cosB) =2

2 L2 2 L2
tan X - SIN X=1aN X * SIN X | e




4)sin 2x — cos 2x-tan x = tan x

solution sin 2x — cos 2x-tan x = ( 2 tan x }— ( """""""" }tan X
X 1+tan“ X

1+tan“ x
1+tan2x
Cotan X )
1+tan2x

sin 2x — cos 2x+tan x = tan x

L2 2 .
5) sin X tanx+Ccos X Cotx + 2sinXcosx = tanx+cotx

solution
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1. csc x cos x = cot x
2. cos x(tan x + cot x) = ¢sc X
2
3. (secx—-1)secx+1)=tanx
.2 2
4, sin x(1+cot x) =1
q 2 q 2
5. secx-sec x = tan x + tan x
L2 2 2 2
6. sin xcot x+tan xcos x = 1
.2
7. secx- sec X sin x = COos X
L2 2
8. 2sinx-1=1-2 cos x
2 2 2 2
9. tan x-cot X = sec x- csc x

10. tan29 —sin29= tan29 sin29
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3. (sin9+cose)2+( sine—cose)Z:Z
ﬁﬁjﬁ]ﬁ (sin9+cose)2+( sine—cose)Zzsin29+Zsin9c059+c0529+ sinze—Zsinecoseﬂosze

= (sin2+cosze)+ (sin29+c0529)
=1+1

(sin6+cose)z+( sine—cose)2 =2

4)sin 2x — cos 2x+tan x = tan x
J [1 —tan? XJ
- tan x

ﬁ@%ﬁ sin 2x — cos 2x-tan x = | 2N X ;
1+tan? x 1+tan“ X

_ (2tan x —(tan x —tan ® x)
1+tan? x

_tan x +tan * x

" 1itan?x
tan x(1 + tan 2 x)

1+tan?x

sin 2x — cos 2x+tan x = tan x

L2 2 .
5) sin X tanx+Ccos X cotx + 2sinXcosx = tanx+cotx

sin x . 2.,00S X .
+(1- sin x) =—= + 2sinxcosx

a L4 .2 2 . 2
NHIU sin x tanx+cos x cotx + 2sinxcosx=(1- cos x)
Y Cos X sin X

sin x . coS X . .
- SINXCOSX+ — - SINXCOSX+2SINXCOSX
sin x

Cos X

sinXx oS X
= + -

cos X sinx

.2 2 .
sin X tanx+cos X cotx + 2sinxcosx = tanx+cotx
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1. csc x cos x = cot x

- p 1

WU CSC X COS X =——.COosX = cot x
b sin x

2. cos x{tan x + cot x) = ¢csc x

a e sinXx oS X

WU cos x(tan x + cot x) =cosx( —= +—=)
v cos X  sinXx

cos 2 x

=SiNX + —
sin X




_sin? x +c0s % x
sin x
1

sinx
cos x(tan x + cot x) = csc x
3. (secx-1)secx+ 1) =tan’x
Wgau( sec x - 1 N sec x + 1) = sec’ x - 1 = tan'x
(secx—1 ) secx+ 1):tan2x
4.sin2x(1+cot2x) =1

a s . 2 2 .2 2
Weau sin x(1+cot x)=sin xcsc x

.21
=sin X— =1
sin” x

.2 2
sin x(14+cot x) =1
a 2 4 2
5. secx—-sec x = tan x + tan x
a ¢ q 2 2 2
gAY sec x - seC x = sec x(sec” x-1)
2 2
=(1+ tan x) tan" x
4 2
=tan x + tan x
a 2 4 2
sec X —sec x = tan x + tan x
cos?x sin? x

+

L2 2 2 2 L2
6. sin xcot x+tan xcos X = sin X—
sin® X cos < x

L2 .2 1
7. secx- sec x sin x =secx(1-sin"x) =
oS X

2 sinzx -1 =2(1- COSZX)—1= 1-2 coszx

®

2 2 2 2 2 2
9. tan x-cot x =(sec x-1)-( csc x-1) = sec x- csc x

10. tanze —sin29= sin29( 1 -1)= sinze(m)z sinze(

cos? 0 cos? 0

2
cosx=1

2
.COS X = COS X

sin? 0

cos? 0

)= tan 0 sin’0



